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Question Id : 68634013163 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634013164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRl TN T SUgad N
1. 591 SR @iy
2. Py 3R 3G
3. 91 SR Ui

4. 38T 3R Udddl

Options :

68634052001. 1
68634052002. 2
68634052003. 3
68634052004. 4

Question Number : 2 Question Id : 68634013165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o T 3T o oTT BlaT 5.3 f&Ufd &1 bgd ©:
1. garEs fRufd
2. gEreTS fufd
3. 3Ty fRufer
4. Orfcas fyfd

Options :

68634052005. 1
68634052006. 2
68634052007. 3
68634052008. 4

Question Number : 3 Question Id : 68634013166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gD 3 U & o1y oo g 1 Wi fohal 82
1. X&THD
2, A"
3. faRei=gE
i y
Options :
68634052009. 1
68634052010. 2

68634052011. 3
68634052012. 4

Question Number : 4 Question Id : 68634013167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR TR B 4TI &
1. ST Fetaret
2. E[ e
3.9 <l

4. §EpdIE Wolalal

Options :
68634052013. 1
68634052014. 2



68634052015. 3
68634052016. 4

Question Number : 5 Question Id : 68634013168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR el & Y ® Jgay QU U I1ai & HHER TET:

A. T FEFIE 1T 8 SR UH faRNga

B. O 1Y 3T & U glar §

c. forgs 39 9% & U1 ©f YIa-1 81d &1 Wi
D. GE &I g% Bl aY b 34 7 o1 918d §
E. 89 §6-83 (98l g PTMHE AR ©

1.C.D,B.E;A

| ]

B G AL E
3:D.E;BAC

4. E.B.A.D.E

Options :

68634052017. 1
68634052018. 2
68634052019. 3
68634052020. 4

Question Id : 68634013163 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634013164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TN T SUgad N &
1. 591 SR @iy
2. Py 3R 3G
3. 91 SR Ui

4. 38T 3R Udddl

Options :

68634052001. 1
68634052002. 2
68634052003. 3
68634052004. 4

Question Number : 2 Question Id : 68634013165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o T 3T o oTT BlaT 5.3 f&Ufd &1 bgd ©:
1. garEs fRufd
2. gEreTS fufd
3. 3Ty fRufer
4. Orfcas fyfd

Options :

68634052005. 1
68634052006. 2
68634052007. 3
68634052008. 4

Question Number : 3 Question Id : 68634013166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gD 3 U & o1y oo g 1 Wi fohal 82
1. X&THD
2, A"
3. faTwgg
i y
Options :
68634052009. 1
68634052010. 2

68634052011. 3
68634052012. 4

Question Number : 4 Question Id : 68634013167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR TR B 4TI &
1. ST Fetaret
2. E[ e
3.9 <l

4. YIHd-g Golarmt

Options :
68634052013. 1
68634052014. 2



68634052015. 3
68634052016. 4

Question Number : 5 Question Id : 68634013168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR el & Y ® Jgay QU U I1ai & HHER TET:

A. T FEFIE 1T 8 SR UH faRNga

B. O 1Y 3T & U glar §

c. forgH 39 95 & 3{H1d $I HIG-T §Id Bl Wi
D. GE &I g% Bl aY b 34 7 o1 918d §
E. 89 §6-83 (b8l g P 3HE AB &

1.C.D,B.E;A

| ]

B G AL E
3:D.E;BAC

4. E.B.A.D.E

Options :

68634052017. 1
68634052018. 2
68634052019. 3
68634052020. 4

Sub-Section Number : 2
Sub-Section Id : 686340430
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634013169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T B AT ST HeTar 1 Hel 344 &

1. Y1 991 H TR D1 559 Bl

| )

. HYAT Bl BEd G GE Bl A AT
P (a1 oI I Wipd
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Options :

68634052021. 1
68634052022. 2
68634052023. 3
68634052024. 4

Laa



Question Number : 6 Question Id : 68634013169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3O BT 1T SETIAT HgTaR & Hal o 5

1. 3O &9 DR GE] BT g Bl

[ ]

. Y1 B Bed G GAR DI 7 G0
P (&A1 B 2l iba
4. 37O FT B IRI&T AT

Options :

68634052021. 1
68634052022. 2
68634052023. 3
68634052024. 4

LIF¥]

Question Number : 7 Question Id : 68634013170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAfERIT ¥ W SUH $1 3EeRY Tl o
1. YO
TR
3. BTNl
4. Ud®

Options :

68634052025. 1
68634052026. 2
68634052027. 3
68634052028. 4

[ ]

Question Number : 7 Question Id : 68634013170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiad § 9 o Sudl &1 35eR T8l &
1. 7Ty
2, Wl
3. UPTRI

4. Uddd

Options :

68634052025. 1
68634052026. 2
68634052027. 3
68634052028. 4

Question Number : 8 Question Id : 68634013171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHAPING U & UREY I fbg e o1 Wi faha Siral g2
1.
e
3. 9ard
4, Yadig

Options :

68634052029. 1
68634052030. 2
68634052031. 3
68634052032. 4

[ )

Question Number : 8 Question Id : 68634013171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT T & W o farg Teaie o1 vy fasar Sirar &2
1. foa
R
3.9ard
4. Yagig

Options :
68634052029. 1

[ )



68634052030. 2
68634052031. 3
68634052032. 4

Question Number : 9 Question Id : 68634013172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gt 11 ¥ fief iforg
T 1 T 1
A [T® 1 [qea
B. [amT I faA
C. [@er 1. [fae=i
D. [Ed0d IV, [GEN
Fafeiad faeedi § 9 981 9O &1 99 DI :

1. A-IV. B-II. C-III. D-1

| ]

CA-IL B-LL C-IV, D-III
3. A-L. B-II. C-IIL. D-IV

4. A-IIT, B-IV. C-I1. D-I

Options :

68634052033. 1
68634052034. 2
68634052035. 3
68634052036. 4

Question Number : 9 Question Id : 68634013172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1 1 gt 11 ¥ fief iforg

T 1 T 1
A [O® 1 [d=d
B. |3m . [dq
C. [@ern 111 [f[aGen
D. [Ed0d IV, [GEN
afeiad fdeedi © 9 981 IO &1 99 DI :

1. A-IV. B-II. C-IIL, D-I
2. A-IL B-1. C-IV, D-III
3. A-L. B-II. C-IIL. D-IV
4. A-IIT, B-IV. C-I1. D-I

Options :

68634052033. 1
68634052034. 2
68634052035. 3
68634052036. 4

Question Number : 10 Question Id : 68634013173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 g4 11 ¥ e Sifeie
I 11
= s
A [E I [gAr
B. [f4R 1L [pul
C. fmer I [99e
D. o V. [gfe

Fofeiad faeedl © U 98l 39k &1 994 DIl

1. AV, BIIL C1. DI
2. A-IL B-I, C-IV., D-III
3. A-I, B-IL. C-IIL D-IV
4. A-III, B-IV. C-1, D-II

Options :

68634052037. 1

68634052038. 2

68634052039. 3
68634052040. 4



Question Number : 10 Question Id : 68634013173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

gl 1 1 Yl 1 9 fAeH $ifs

I 11
= e
A [B I [
B. [{R 1L [pul
C. et I [9 e
D. [To7 . [giHp
Frafdiad fadedi § 9 Ul SR &1 907 BTl ;

1. A-IV. B-I1I. C-I. D-I1

[ ]

CA-IL B-LL C-IV, D-III
3. A-L. B-I1., C-III. D-IV

4. A-III. B-IV. C-I, D-II

Options :

68634052037. 1
68634052038. 2
68634052039. 3
68634052040. 4

Question Number : 11 Question Id : 68634013174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wﬂ?awwmamﬁﬁawd 3G 30 T4 § | IAB! S FI AU 5:7 6| TSH Ul ASH! Bl 311
FHL:E -

1.30 T, 25 94
2599, 3599
3.25aY, 40 99
4,303, 42 99
Options :
68634052041 1
68634052042, 2

68634052043. 3
68634052044. 4

| ]

Question Number : 11 Question Id : 68634013174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Qﬁﬂ@?ﬁtﬂwmﬁéﬂﬂﬁ&ﬂma@%l GBI 3T BT HUIT 5:7 3| TSP Ul ASH| B A
B -

1.30TH, 25 99
25T%. 3599
32509 40 99
4.30TY, 42 99
Options :
68634052041. 1
68634052042. 2

68634052043. 3
68634052044. 4

| ]

Question Number : 12 Question Id : 68634013175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 0] BT 3ifehd e 2 200 81 TP GPHER SH W 1229 DT FE & B d1G 41 25% AT U1 AT &
G D1 o0 Hed (2 H) F1 87 i

1. 180

| ]

165
3. 140

4. 112.50

Options :

68634052045. 1
68634052046. 2
68634052047. 3
68634052048. 4

Question Number : 12 Question Id : 68634013175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS O] DT 3ifdd Hed 2 200 §1 Th gHMHER 3U W 1229 I FE &1 & a4 41 25% W14 U Rl g
A BT HU A (2 H) F w2 )

1. 180

| ]

165
3. 140

4. 112.50

Options :

68634052045. 1
68634052046. 2
68634052047. 3
68634052048. 4

Question Number : 13 Question Id : 68634013176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% 800 1 A 10% aN¥e =Tl sTal Bl & . oid sATd Sefalde YUIferd gidl 6. fba- sl § 2 926.10
B STT?

1.1

b | = | =

| -

4.3

Options :

68634052049. 1
68634052050. 2
68634052051. 3
68634052052. 4

Question Number : 13 Question Id : 68634013176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



% 800 1 A 10% aN¥e =Tl sTal Bl & . oid sATd Sefalde YUIferd gidl 6. fba- sl § 2 926.10
I ST

1.1

!,_.l
d | —

b | —

| -

4.3

Options :

68634052049. 1
68634052050. 2
68634052051. 3
68634052052. 4

Question Number : 14 Question Id : 68634013177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gt Wi 8 ¢ &1 Hd gU fodl &1 31 6 & T ad ¢ 1 SH1 & 31 12 SmgHt afg uidfe 10
He D & dl fod- faT 8 B

b | —

[
Ll
| —

3.3

4.2

Options :

68634052053. 1
68634052054. 2
68634052055. 3
68634052056. 4

Question Number : 14 Question Id : 68634013177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ui 3ireH! ufdfd 8 Ue @ ®d gU fbdll & @i 6 31 H vd §1 3l o @l 12 3ngHt a1 ufafé= 10
de &M & dl food- a7 o s

b | =

[
1D
tad | —

3.3
4.2

Options :

68634052053. 1
68634052054. 2
68634052055. 3
68634052056. 4

Question Number : 15 Question Id : 68634013178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG T D1 HAE 390 B & AH.9RHTT BT 40% €1 el 0= FR $i IRI TR STaU9R aarH
=TEd1 € | S=arol qUT RISihadl T A7 15 m* BISd §U 50 em TIST AIUTR 2 40/m Bl X F TIGH BT
W 252008 PP 395 (mH) &

1.3.6

| ]
L]
oo

4.3

Options :

68634052057. 1
68634052058. 2
68634052059. 3
68634052060. 4

Question Number : 15 Question Id : 68634013178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS HH I Hdls 395 B & - 9T B 40% 1 3187 30 HH DI SaRT TR aIaUaR aarH]
ATedl & | adrol quT RISiadl &7 8% 15 m* B15d §U 50 em TIST AIAUUR T 40/m 1 &2 Y 1A @I
WH252008 ] P BI SIS (mH) T

1.3.6

2.3.8
3.4

4.3

Options :

68634052057. 1
68634052058. 2
68634052059. 3
68634052060. 4

Question Number : 16 Question Id : 68634013179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"OGFSH 52" HaieH ©f oid Hfdfdr J1d B

Qo E2H23
69 E2H?2S
0QEZH?23
69E2HC?

Options :

68634052061. 1
68634052062. 2
68634052063. 3
68634052064. 4

[a—y

[ )

L]

=

Question Number : 16 Question Id : 68634013179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OGS H 52" H i s a1 ¢
Qo E2H23
69 E2H?2S
0Q@EZ2H?23
69Ek2HC?

Options :

[a—y

[ )

L%

e



68634052061. 1
68634052062. 2
68634052063. 3
68634052064. 4

Question Number : 17 Question Id : 68634013180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= €t g srafa B fayst siR aril 5 wiem I1d &%

1. 44 fodar, 10 it
12 fnfen, 14 @t
3.27fade, 6 aif
4 2 fade 2ot

Options :

68634052065. 1
68634052066. 2
68634052067. 3
68634052068. 4

| ]

Question Number : 17 Question Id : 68634013180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i €t g srgpfa B faySi oik ol 1 <iem 3d &%

2
2|

4. 32 s, 12

Options :

68634052065. 1
68634052066. 2
68634052067. 3
68634052068. 4

Question Number : 18 Question Id : 68634013181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i feu 7Y faoeul 9 grEitd g 7
DXH :4x8 : : MxQ : ?

1. 12x17

| ]

. 13%17
3. 12x16

4, 14x18

Options :

68634052069. 1
68634052070. 2
68634052071. 3
68634052072. 4

Question Number : 18 Question Id : 68634013181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i fau 7Y faseul 9 greitd g 9
DXH:4=8:: MxQ: ?

1. 12x17

| ]

. 13%x17
3. 12x16

4. 14%18

Options :

68634052069. 1
68634052070. 2
68634052071. 3
68634052072. 4

Question Number : 19 Question Id : 68634013182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T RI1Ud D3d gU. AT B3 b (D) & TIF TR 1 SAT?

1. 46
2. 60
3.34
4. 64

Options :

68634052073. 1

68634052074. 2

68634052075. 3
68634052076. 4

Question Number : 19 Question Id : 68634013182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T RO D3d gU AT B3 b (D) & TIF TR T 32
1. 46
2. 60
3.34

4. 64



Options :

68634052073. 1
68634052074. 2
68634052075. 3
68634052076. 4

Question Number : 20 Question Id : 68634013183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefad § 3 o0 9 o, 52i=< aur Sae & o9 d s ufaffia sar gl

[ ]

()

L]

Options :

68634052077. 1
68634052078. 2
68634052079. 3
68634052080. 4

Question Number : 20 Question Id : 68634013183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fofafaa § 9 o o e, a2 aur 3ae & di= md @ afaRa sar el

=

LFS]

©

Options :

68634052077. 1
68634052078. 2
68634052079. 3
68634052080. 4

Question Number : 21 Question Id : 68634013184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B T HUF g $ 00T & ol I

A. 39! gt 1paid g1 uiE aul & g &1 ol 8 |

B. 39 YRd &I AFIR® 3R 45 a4 B 31 P16 AN

C. I B PAUTAD Widaai 394 Hgd g

D. &= Tl SR o4 & fayfdanadl & Iupauld IsauTd g1 e [ od § |

i 4T T [ddedl H ¥ Yl 3R &1 904 Il
1. PadA. D

2. BAd A, B. D
3. PAAA. C, 3RD
4. HAA A, B, 3R C



Options :

68634052081. 1
68634052082. 2
68634052083. 3
68634052084. 4

Question Number : 21 Question Id : 68634013184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P T HYT T P IoT9Td & o0 I &

A. g1 [Fgfed 1yufd gR1 = ol & fog &1 okl & |
B. 349 HRd &I AFIRG 3R 45 T4 B 31 &I 61 9ed|
C. I oI SHgTad Aieadl 34 Hied g

D. &1 Tt 3R o9 & fayfaenerat & Sugrerafa Isaura gRT ga fad o g
i f4U U [asedi © 9 981 3R &1 99 SIfU:
1. $ad A, D

2. BAdA.B. D
3. PAAA. C, 3RD
4. HAAA. B, AR C

Options :

68634052081. 1
68634052082. 2
68634052083. 3
68634052084. 4

Question Number : 22 Question Id : 68634013185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad | 9 11 91 9di= YR diigide R o

1. FT418 REBR

2. ifgd Hp1aHl TR

3. ga1 [THPR
4, §PR ARA

Options :
68634052085. 1
68634052086. 2



68634052087. 3
68634052088. 4

Question Number : 22 Question Id : 68634013185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad @ 4 o 91 gdis YR Aigids [REeR 8:
1. §TU16 REPR
2. e pIeH! PR
3. QAT IR
4. gIR UISH

Options :

68634052085. 1
68634052086. 2
68634052087. 3
68634052088. 4

Question Number : 23 Question Id : 68634013186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 61 g 11 ¥ e Sifsy
1 11
b g
A B3 Td 1 [HeRy
B. [ciigHi 1. [[aeR
C. [pfagfs [T |HIEHGE]
D. [fecimm IV, [HREUS

Ty

i {40 710 [ddedl § ¥ 9l 31 &1 9094 HIoil -

1. A-I. B-II. C-III. D-IV

| ]

cA-L B-IV, C-11, D-III
3. A-TV. B-1, C-III, D-II

4. A-IV. B-III. C-1. D-II

Options :

68634052089. 1
68634052090. 2
68634052091. 3
68634052092. 4



Question Number : 23 Question Id : 68634013186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

gl 1 1 Yl 1 ¥ e $ifs

I 11
= =
A [BFTd 1. [FERIP
B. [cIrgHi 1. [[AER
C. [pgfs 1L [HIHTEET
D. [fciim IV [SIREUs
=t fu U fa@edi O 9 9ol 3Tk &1 99 SIfo ;

1. A-I. B-II. C-III. D-IV

| ]

CA-L B-TIV, C-11, D-III
3. A-IV, B-1. C-III, D-II

4. A-IV. B-I1I. C-I. D-II

Options :

68634052089. 1
68634052090. 2
68634052091. 3
68634052092. 4

Question Number : 24 Question Id : 68634013187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 81 § UR™ &1 T URA-NCAP 9 fid §:
PRI B TapT & Fsqre

fa—y

2. FoHo i Wieidhd
ISyl g

4. T=3 $YT 3dIGA

LN

Options :

68634052093. 1
68634052094. 2
68634052095. 3
68634052096. 4

Question Number : 24 Question Id : 68634013187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B1d ol § UR™ P T ' HRA-NCAP G fd §:
PRI DI Tap &M i

—

2. FoHo ofid Hieidid

UGyl A

[FN]

4. W3 U 3G

Options :

68634052093. 1
68634052094. 2
68634052095. 3
68634052096. 4

Question Number : 25 Question Id : 68634013188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 ges & arell wyd R &1 g2
1. gt
2. ddr wrian
3. e forit

4. dIRkT adl

Options :

68634052097. 1
68634052098. 2
68634052099. 3
68634052100. 4

Question Number : 25 Question Id : 68634013188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy 9e8 & aTell ws YRA B 82
1. TyTi ™
2. 31 i
3. faar et

4. il qdl

Options :
68634052097. 1



68634052098. 2
68634052099. 3
68634052100. 4

Part B: Electrical Power and Energy Engineering

Section Id : 686340262
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340431
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634013189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2z +1 . 1 .
Value of f s——dz  where Cis |z|==,is:
cZ Ttz 2
1. -2mi
2.2m
3. m
4.0
Options :

68634052101. 1
68634052102. 2
68634052103. 3
68634052104. 4

Question Number : 26 Question Id : 68634013189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



—
|
[
=
=i

[
[
=l

B

Options :

68634052101. 1
68634052102. 2
68634052103. 3
68634052104. 4

Question Number : 27 Question Id : 68634013190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The signal flow diagram shown represents a feedback system subjected to a disturbance W (s). The transfer
tunction relating output y(s) to w(s) with reference [R (s)= 0]. is:-

(5
d:
|+f;]f13
5. G (7,
1-G0,
3 (75
S+ GG
(v
4,
1-G0,
Options :

68634052105. 1
68634052106. 2
68634052107. 3
68634052108. 4



Question Number : 27 Question Id : 68634013190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i fear a1 [ U YR Havd (RFTHe) WaTs & a=iidl ¢ ol [d&iy W (s) 9 wHIidd g1 FRIC v (s) &l
el B arar Siald Bad [R (s)= 0], S & 1y o1 &

1 (74

: 1+ (1:1(.;3
> () (r4
-G,
3 (75

L1+ GG,
4 (75

L 1-Gs

Options :

68634052105. 1
68634052106. 2
68634052107. 3
68634052108. 4

Question Number : 28 Question Id : 68634013191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum possible speeds in rpm at which an alternators can be driven to generate voltages at 60 Hz and
50 Hz are. respectively:

1. 7200 . 6000

-J

3000, 3600
3. 6000, 7200
4. 3600, 3000

Options :

68634052109. 1

68634052110. 2
68634052111. 3



68634052112. 4

Question Number : 28 Question Id : 68634013191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S dH UG rpm T 3 910 ol IR Ud 9@ &1 HH : 60 Hz AR S0 H P fAva T - &
ferg afanfera forar o g dr &

1. 7200, 6000

| ]

. 3000 , 3600
3.6000., 7200
4, 3600, 3000

Options :

68634052109. 1
68634052110. 2
68634052111. 3
68634052112. 4

Question Number : 29 Question Id : 68634013192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The digital circuit shown in below represents:

X \t n o
Clk—op> Q[
1. JK Flip-flop
2. Clocked RS Flip-flop
3. T Flip-flop

4. Ring Counter

Options :

68634052113. 1
68634052114. 2
68634052115. 3
68634052116. 4

Question Number : 29 Question Id : 68634013192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



== o man grey (fsforew) sy s siar gr

Sy

CLK—0=

2l

[y

. JK Flip-flop

| )

. Clocked RS Flip-flop

%]

. T Flip-flop
4. Rig Counter

Options :

68634052113. 1
68634052114. 2
68634052115. 3
68634052116. 4

Question Number : 30 Question Id : 68634013193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assume the incremental cost characteristics of two generates delivering 250MW as.

2 _50+0.01p
gB ok
A 1a+02p
dpy =

For economic operation. the generation Py and P, should be:

1. Py =P, =125MW
2.P;=209.5 MW; P, =40.5 MW
3.P{=250MW :P, =0 MW
4. P, =40.5MW; P, = 209.5MW

Options :

68634052117. 1

68634052118. 2

68634052119. 3
68634052120. 4

Question Number : 30 Question Id : 68634013193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

I & WA S 250MW FeT B I8 § B aNltie Oed [dRvd &

4 _0+001p
ap, 0 Tl
&2 14+02p
dt gl

e yaTe= & [T P, 3R P, B 3G 1 gHI A1gW?

1.P; =P, =125MW
2. P, =209.5 MW: P, = 40.5 MW
3.P;=250MW:P,=0 MW
4.P, = 40.5MW: P, = 200.5MW

Options :

68634052117. 1

68634052118. 2

68634052119. 3
68634052120. 4

Question Number : 31 Question Id : 68634013194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The value of solar constant 1s.

1. 1000 W/m?

| ]

. Fero
3. 1367 W"m:
4. 500 W/m?

Options :

68634052121. 1
68634052122. 2
68634052123.3
68634052124. 4

Question Number : 31 Question Id : 68634013194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR 3% &1 O &1 82
1. 1000 W/m?

2. 949
3.1367 W/m?

4. 500 W/m?

Options :

68634052121. 1
68634052122. 2
68634052123. 3
68634052124. 4

Question Number : 32 Question Id : 68634013195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

UNFCCC stands for:

1. United nations Framework Control on Climate Change

2

. United Nations Framework Communication on climate Change

[F¥]

. United Nations Framework Convention on Climate Change

4, United Nations Framework Control on Communication Council

Options :

68634052125. 1
68634052126. 2
68634052127. 3
68634052128. 4

Question Number : 32 Question Id : 68634013195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UNFecc fras e & o siar ®)
1. g5 Y4 WHdd deld 31 darghic dol
2. FATSCS AN hHdD BB RH 3 Fargic 9

3. gAECS AR WBHAS P02 3[H Fghe 9o

[

4, AGCS A2 Wl dD el 3HIH PIgHB A dl

Options :



68634052125. 1
68634052126. 2
68634052127. 3
68634052128. 4

Question Number : 33 Question Id : 68634013196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Dot product of two vectors is positive or negative depending on whether the angle between the

T
vectors 1s less than or greater than — .

Statement IT: Dot product 1s equal to the product of one vector and the projection of the vector on the first
one
In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

2. Both Statement [ and Statement II are false

3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

Options :

68634052129. 1
68634052130. 2
68634052131. 3
68634052132. 4

Question Number : 33 Question Id : 68634013196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 Py R T E:

HYA 1:3] G 1 [dg- TG HBUTHS ¢ 1 91D dg 29 &1d R 2R al § & 3710 i i %
SESIER G

@ 11: [Hg-TUhd, U iR 3R 39T ugd TS IR Y& & [UHEe & sRIER eldl o
SWRIGd HY o 3l H, = fGu Tt fawedi & I 964 Iugad Ik &1 90 DI

1.PUTI IR IS 908
2. YT 3R 1S HTT T
3. HYT 1 I §. dfh DU 11 39T §

4 FYTIHTT 8, Al FYT I TT

Options :

68634052129. 1
68634052130. 2
68634052131.3
68634052132. 4

Question Number : 34 Question Id : 68634013197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R

Assertion A: For measuring the value of unknown capacitance one of the method used is the De Sauty's
Bridge which is based on comparing the two capacitances

Reason R: De-Sauty's Bridge cannot be used for measuring the value of unknown capacitance if both the
capacitors are not free from dielectric loss

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R is correct

Options :
68634052133. 1
68634052134. 2



68634052135.3
68634052136. 4

Question Number : 34 Question Id : 68634013197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=19 3 Hu AU 0§, US S UT (Assertion A) & 39 H [IRGd § 1 G¥RT 39D DRI (Reason R)& ¥
T

HIYBHYA A: ST 1T &b 19 DI WY o (78 WURT 34 aTeil U (a9 S a13ct I § off &l emkarsi &l
T IR SR &

HRUIR: S HS T, DI 3G TR BT HH A9 & foTe 9l e fova1 o 9oar afe gH1 deria
RIS BT & o -Te1 o

SURIGd Sy o 3l H, 1 fGu e fabedi & 9 9ad Iugad Ik &1 =0 Sifey
1. A R R M 981 & SR R. A S Hel IR 3

A 3R R A W8l € SR R. A 1 Ut e el §

ATE T AfPTR TE TR

4. AR Tel ¢ APIR Tl ©

Options :

68634052133. 1
68634052134. 2
68634052135.3
68634052136. 4

| B)

%]

Question Number : 35 Question Id : 68634013198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements for synchronous Machine.

A. Synchronous machine can have a cylindrical rotor.

B. Synchronous motors are connected to the bus bars in generating stations and electrical substations to
improve power factor

. In a synchronous machine. hunting is predominantly damped by cupper losses in the stator.

. During hunting of synchronous motor, damper bars develop torque

. Hunting 1s occurred in only synchronous motors

[l N

Choose the correct answer from the options given below:
1.LA.B.C.D
2.B,C,D.E
A D E

4. A.B.D.E

Options :

68634052137. 1
68634052138. 2
68634052139. 3
68634052140. 4

Question Number : 35 Question Id : 68634013198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEfaRgd o O gt Jeadlice 44 & 710 98l Sy I

A. IPI® U3 B §TIPR A 8 Ihdl &

B. qedblid® Hiex &l 3dE ¥¥H J 3iR [dgd SudcyH 98 31 85 & a1y

C. @i 94 B, smded @) sifipd Wex § &R g1 & SR siqhfed (Sm) gt §
D. Jeg@Iae® 39 § §cT & GRM SHR (3HaHe®) B9 9 Y0l Sdd Hdl &

E. BITT (31R8C) $ad qedolicis Arexl § 8l o

=i fau e fawedt & ¥ Hel S &1 997 Difo:

1.AB.C.D

2B, TR
3.3)A,C,D.E
4.A.B.D.E

Options :

68634052137. 1
68634052138. 2
68634052139. 3
68634052140. 4



Question Number : 36 Question Id : 68634013199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sclf-Bias and collector-to-Base circuits are examples of feedback amplifier which increase
drastically the gain of the signal.

Statement IT: Quite often. both bias compensation and stabilization techniques are used to provide maximum
bias and thermal stabilization

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ is correct but Statement IT 15 incorrect

4. Statement [ is incorrect but Statement IT is correct
Options :
68634052141. 1
68634052142. 2

68634052143.3
68634052144. 4

Question Number : 36 Question Id : 68634013199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I A LR S

HY I WAL 3R RIS ¥ a9 (3141R) TRYY G- 1R yates & Iame vl ¢ ol Hobd disl &1 Jds
TIYTGTAA

Y HUBR I WaPR (&fagfd) SR RIS da-iid gl &1 WarT HUedd aa9 SR S
QTSR0 Y5 B & [eTu STl 5 |

SWRIGd HY & 3l H, " fGu Tt faeedi § I 964 Iugad 3ok &1 99 SIS
1. PYTI 3R 1EH 90 8
YT 3R 1 SH 3§

PYT 1T B, A DU 11 3T B

2

(%]

PYTI SIS, AT PUT I I B

=



Options :

68634052141. 1
68634052142. 2
68634052143. 3
68634052144. 4

Question Number : 37 Question Id : 68634013200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements.

A. In CSI input current is Variable.

B. CSI requires feedback diodes.

C. Both controlled and uncontrolled switches are used in CSI.
D. CSI does not require filters.

E. CSI circuit requires large inductance.

Choose the correct answer from the options given below:
1.Band C
2.Cand E
3.Band D

4. A.B.E

Options :

68634052145. 1
68634052146. 2
68634052147. 3
68634052148. 4

Question Number : 37 Question Id : 68634013200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HUF I

A. cSIH, a9 yRT seudt Iedi ol

B. CSI 3, YHRUI STFS| &1 Sa=aadl sldl o

C. csIH. gF! (g 3R sif=Ha g v ey ord @
D. CSI ¥ ftheex &1 31d2gahdl el sidt

E. cs1 uRoys 3fie ufdaryr &1 sravgedr gidi g1

=< f4u U f[d@redl § O el 3R &1 944 BIaIg:
1.B3RC

.C3RE

3.B3RD

4. A.B.E

-2

Options :

68634052145. 1
68634052146. 2
68634052147.3
68634052148. 4

Question Number : 38 Question Id : 68634013201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Power in waves 1s directly proportional to the square of its amplitude and mnversely proportional
to the period of motion

Statement IT: Compound to open cycle system a closed cyele OTEC system has higher working pressure in
boiler/ turbine and lower specific volume of working fluid
In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement IT are false

3. Statement [ is true but Statement 1T 1s false

4. Statement I 1s false but Statement II is true

Options :
68634052149. 1



68634052150. 2
68634052151. 3
68634052152. 4

Question Number : 38 Question Id : 68634013201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEE ﬁiﬂﬁqm%:
DY I TN &1 Wi, 3TATH F a7 & FHHAR SR Td & HIad | cagad Tl sldl o

DY I1: Gd I b/ ﬁ qo1 H dg 9% (OTEC) Mo & $14F exaig 4 3= YdIeH &1d SR Jare
%d &1 (44 falkw s gfar g

SURIGd BYT & 3Telier H, A fAU 71U fge eyl o 9 969 S9ged SR &1 90 DI
1. BYFI1 AR NaHI 9 &
YT IR 1 EH ST

FYTI T 2. AP YT I 3T ©

[

Lo%]

PYTI A 8. AfbI PUT I T ©

e

Options :

68634052149. 1
68634052150. 2
68634052151. 3
68634052152. 4

Question Number : 39 Question Id : 68634013202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Energy yield ratio 1s the ratio of energy consumed to the energy produced
Statement IT: Primary energy sources have higher value of energy yield ratio

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I 15 false but Statement IT is true

Options :

68634052153. 1
68634052154. 2
68634052155. 3
68634052156. 4

Question Number : 39 Question Id : 68634013202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe g pu feu U B

HU [: 3ol TRIYA 391 3ol STHad 3R 3ol Sl &1 39T ¢

HU I1: TS I Wil B 39l IR1Hd $THH I S g

SURIGd HY- o 3l H, 9 fGu Tt fasedl # 9 9ad Iugad Ik &1 90 DI

1. PYTI 3R NS T
2. PYTI 3R 1 SH 3ET T
3. BYT I I B, Afpd FYT 11 3T &
4. YT AT T, AP T HYT I T ©
Options :
68634052153. 1
68634052154. 2

68634052155.3
68634052156. 4



Question Number : 40 Question Id : 68634013203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ity =[qf}.]_ izl j<n with o jj =i-f

Then number of linearly independent Rows are:

1.0

| S
ek

Jon
4. n-1

Options :

68634052157. 1
68634052158. 2
68634052159. 3
68634052160. 4

Question Number : 40 Question Id : 68634013203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe X =[a, izl j<n ay=ij
& Ty 7, a1 IGw Taqd dfeaal S de a1 it

1.0

[ )
[y

in
4, n-1

Options :

68634052157. 1
68634052158. 2
68634052159. 3
68634052160. 4

Question Number : 41 Question Id : 68634013204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first two rows in the Routh table for characteristics equation of a certain closed loop control system are
given as:-

s3 1 Jer+3)
gl K |4

The range of K for which the system is stable is-

1.-20<K <05

2

O<K<0.5
3.3.0<K<w
4 05<K=<w
Options :
68634052161. 1
68634052162. 2

68634052163. 3
68634052164. 4

Question Number : 41 Question Id : 68634013204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forelt Sigd o 43 & sifiraeifte grfiewo & o ey aiferer 8 vedl S dfdmi i g @

53 (1 [(2K+3)
s? K |4

K &1 9ER forads feru 7 =t & o g

1.-20<K <0.5

2.0<K <05
JLO0<K<wmw
4.05<K<w

Options :

68634052161. 1
68634052162. 2
68634052163. 3
68634052164. 4

Question Number : 42 Question Id : 68634013205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The flux involved in the emf equation of a transformer has

1. rms value
2. maximum value
3. total value
4. average value

Options :

68634052165. 1

68634052166. 2

68634052167. 3
68634052168. 4

Question Number : 42 Question Id : 68634013205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UT SRS (TFAPIHR) & emf THHRON H M Faay T4 GHI?
1. rms HIH
i ag I

[

L]

R TRIE]
4, 3TOd 7

Options :

68634052165. 1
68634052166. 2
68634052167. 3
68634052168. 4

Question Number : 43 Question Id : 68634013206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average value of the half-wave rectifier 1s given as:

Im

1. R

V'E

, Im

3 21Im

I
1

4 Im

2
Options :

68634052169. 1
68634052170. 2
68634052171. 3
68634052172. 4

Question Number : 43 Question Id : 68634013206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3] T R HRY &1 9 O T R?

Im
1 RIS
V2
, Im
T{
3 21lm
i
1
g Im
2

Options :

68634052169. 1
68634052170. 2
68634052171. 3
68634052172. 4

Question Number : 44 Question Id : 68634013207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a three phase voltage source inverter operating in square wave mode. the output line voltage is free from
1. 3 harmonic

2. 78 harmonic

d

3. 11™ harmonic

4. 13™ harmonic

Options :

68634052173. 1
68634052174. 2
68634052175.3
68634052176. 4

Question Number : 44 Question Id : 68634013207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U o UIaR [aH® Wid didad® of a1l o faeT 3 y=ied 8. df Fid g fava g9aa 39 8 s st
1. TR XA

[

. ITddl gD

Lad

JRedl gRlHP

. d¥Edl SIS

Options :

68634052173. 1
68634052174. 2
68634052175.3
68634052176. 4

e

Question Number : 45 Question Id : 68634013208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The value of solar radiation in summer is maxumum on the surface having mnclmation angle equal to.
1. Latitude angle
2. Altitude angle
3. Zenith angle

4. Surface azimuth angle

Options :
68634052177. 1



68634052178. 2
68634052179. 3
68634052180. 4

Question Number : 45 Question Id : 68634013208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & IRl 39 Has R fedd gidl § fSeer srifd H1v avieR g1d1 §
1. HERT PP
. 3AAI DIV &
RRifdg BIor &
g8 T v e

[

Lad

e

Options :

68634052177. 1
68634052178. 2
68634052179. 3
68634052180. 4

Question Number : 46 Question Id : 68634013209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Method of estimating the total product cost by taking into account the whole life cycle of the product as well
as the direct and external cost 1s.

1. Payback period

[ )

. Life cycle costing
3. Net Present Value

4, Investment

Options :

68634052181. 1
68634052182. 2
68634052183. 3
68634052184. 4

Question Number : 46 Question Id : 68634013209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



$d I ed 1, Yol Sita b Ul Hed ay1 a1 (H1erd) Ted 1 & 1 3@ PR Sfidad o3 31 fafer
waﬁaﬁ%

1. YA BT

Sl Feh HeHih
fad (o) saaA 7=
EREGEY

Options :

68634052181. 1
68634052182. 2
68634052183. 3
68634052184. 4

[

L]

Question Number : 47 Question Id : 68634013210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: If Matrices A 1s orthogonal then Determmant of Ais + 11.e [A|=+1
Statement IT: If Matrices A has Determinant of A 1s + 1 1.e |A| = + 1. then matrice A 1s orthogonal

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :

68634052185. 1
68634052186. 2
68634052187.3
68634052188. 4

Question Number : 47 Question Id : 68634013210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &l B Ry U &

DY I TTS G A TaP g Ol ADTIAROG + 1 3ufd (Al=+1

DY TG TG A BT IRIUCD + 1 8 HUld |Al + 1 Tl 3ToUE A e 5

SURIGR HY D el U, A fGU T faseedl O 3 9ad IUgad IoR B 99 DI
1. Y1 3R I3 T 3

HYH 1 AR I GHT A

3. YT I g ¢, Afhd DU I 3T &

2=

4. PYT AT L. AP PUT I 9T ©

Options :

68634052185. 1
68634052186. 2
68634052187.3
68634052188. 4

Question Number : 48 Question Id : 68634013211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider the correct statements in respect of the thermoelectric instruments. The correct sequence is:

A. They indicate the rms value of current or voltage

B. They suffer from waveforms errors

C. They can be used for frequency range of the order of MHz
D. They have a low overload capacity

E. They have a high accuracy

Choose the correct answer trom the options given below:

1. AB.C.D

2

A CDE
3.E, A, B.E
4.C.B.E.A

Options :

68634052189. 1
68634052190. 2
68634052191. 3
68634052192. 4

Question Number : 48 Question Id : 68634013211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

1Y -3ggd U3 & e U Hel Syl & [ § (WU, 3751 96l $H © -

A.éWWﬁW%lﬂlsﬂﬁaﬁm%(ﬁa%mﬁ%)

B. d a1 30 Ffedl &1 e B

C.d MHz ®ifc & Mgy uRER & o WInT iU o 9o 3|
D. 3@ R uiiar FE gifa g1

E. 3@ guiysd 3= eidl g

- fau e fawedt # ¥ Hel SR &1 997 Difo:

LA B, C D

[

JACILE
3.C.A.B.E
4. C,B.E.A

Options :

68634052189. 1
68634052190. 2
68634052191. 3
68634052192. 4

Question Number : 49 Question Id : 68634013212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In a magnetic field. the force on a current carrying conductor 1s F = BIIL

Statement IT: If the current carrying conductor 1s placed at an angle 6 with the magnetic field. So F =BII
Sin B

(Where F: Force, B = flux density, [ =area. I = the magnitude of current)
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :



68634052193. 1
68634052194. 2
68634052195. 3
68634052196. 4

Question Number : 49 Question Id : 68634013212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁéj?flﬁﬁiFTfanrnz%i

HY I T T (ores [4ggd YR Ualied 61 36! & 98 34 Jraihd &2 H @1 9Idl § dl 99 IR a1 @l
ST F = BI

BYA I1: Tl U arae (ogd faggd YR yalied ol 36l & &l 9eidd 89 1 59 oie 3@l Sl § (6 3Pl
DI gy g9 & WY 6 © ol ¥ 61 & F=BII Sin 6

(UG F: 01 . B = 19 99 . [ = 8T 1 = 4RT T 4iRAT)
SURIgd ®Y & 31elies §, - fEU Tt fae el § 9 969 S9gad SR &1 99 HIfeu:

1. BYFIR 1S 9T 8
BYF 1 3R 1 SH ST ©

YT I IA T, AfpT YT I 3T ©

| ]

%]

4 PYT IO 8. AfPT P I 9T &

Options :

68634052193. 1
68634052194. 2
68634052195.3
68634052196. 4

Question Number : 50 Question Id : 68634013213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 18 labelled as Assertion A and the other is labelled as Reason R
Assertion A: A 64-input Mux can be built by using eight 8-mput Mux's

Reason R: Any six variable function can always be implemented by a multiplexer with six address lines
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R NOT the correct explanation of A

3. A 15 correct but R 1s not correct

4. A is not correct but R 1s correct

Options :

68634052197. 1
68634052198. 2
68634052199. 3
68634052200. 4

Question Number : 50 Question Id : 68634013213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 Gl 2 (U U §, U S UH (Assertion A) & U H [GIRGd & dl GERI 3HB DRI (Reason R)db ¥
o

HBHUT A: TP 64- IR (790 Mux P 3118 -9 (37Y2) BT VTN S & &1 ol ol 3
BRUTR: B3 6 TR HeH DI gH U Sgdchd. ©: TS (UdN) T2 & gRI SHif-ad a1 o 9abdl §
SWRIGd HY o 3D H, 13U e fabedi d I gad Iugad IoR &1 =0 Sifey
1. A R R M 98l & SR R. A S el oI &

A 3R R A 98T € IR R, A 1 O e TE §
AT EAPAR TG AR

4. AUEI TRl g AP R BT ©
Options :
68634052197. 1
68634052198. 2

68634052199. 3
68634052200. 4
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Question Number : 51 Question Id : 68634013214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In 120° conduction mode voltage source inverter, phase voltage waveforms are quasisquare in
nature

Statement IT: In 180° conduction mode voltage source inverter, phase voltage wave forms are eight step in
nature

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ 1s incorrect but Statement IT is correct

Options :

68634052201. 1
68634052202. 2
68634052203. 3
68634052204. 4

Question Number : 51 Question Id : 68634013214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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SURIGd HY- o 3l H, 9 fGu Tt fasedl # 9 9ad Iugad Ik &1 90 DI
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Options :



68634052201. 1
68634052202. 2
68634052203. 3
68634052204. 4

Question Number : 52 Question Id : 68634013215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The statements which are correct with referred to solar cell are:

A. The short circuit current of a solar cell changes logarithmically with radiation

B. At maximum power point of the solar cell the product of voltage and current are maximum
C. Energy pay back period of a single crystal silicone cell 1s 10 to 20 years

D. At maximum power point of the solar cell both voltage and current are maximum

E. Energy pay back period of a single crystal silicon cell is 1 to 3 years

Choose the correct answer from the options given below:
1. C. D only
2.B.C only
3.B.E only

4. A.D only

Options :

68634052205. 1
68634052206. 2
68634052207. 3
68634052208. 4

Question Number : 52 Question Id : 68634013215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR ¥ 5 v ol T

A. U9 IR a 31 @y uikoy ¥R fafd=on & iy ag e 30 § ulkafdd g1t g
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C. U Ushd [ohed eI 4 9d &1 39l YIaE &I 10 1 20 a9 5idT §

D. IR a1 & ifmay (i) wid fde W faug 3k yr1 341 iffean 810 8

E. U% U&d fibeed Rt Sa S 3o Pra- 1 93 a9 ¢

i f4U T faeedl § ¥ Hel 3R &1 99 Hifeiu:
1.$duC. D
2.%dd B.C
3. HAddB. E
4.%4dd A, D

Options :

68634052205. 1
68634052206. 2
68634052207. 3
68634052208. 4

Question Number : 53 Question Id : 68634013216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Sustainability in any process 1s to maintain the process indefinitely

Statement IT: For sustamable development environment damage rate should be greater than enviromment
recovery rate

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement I 1s false

4. Statement [ is false but Statement 1T is true

Options :

68634052209. 1
68634052210. 2
68634052211. 3
68634052212. 4



Question Number : 53 Question Id : 68634013216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 dl pyT fu e B
Y 1: frdl v B YR, W B ST P10 d S 3G & [T B
HU 11: IRUITY [GBT & fe7g gaiarvn &ifd o= Taiarvl UiikieR ¥ 318 gl =nieul
SURIGd HY o 3l H, - fGu Tt fabedl & 4 9ad S9gad 3ok &1 99 DI
1. FY1 AR I H 9 &
2. BYF 1 3R I &Hl A7

3. PYTIgd 8. AfFT Py HFT &

4, FYT I II B, AT PYT LTI ©

Options :

68634052209. 1
68634052210. 2
68634052211. 3
68634052212. 4

Question Number : 54 Question Id : 68634013217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For the function f (x.y)=x*-y*+xy defined on R? the point (0.0) is:

1. Local minimum
2. Neither local minimum nor a local maximum
3. Local Maximum
4. Both local minimum and local maximum

Options :

68634052213. 1

68634052214. 2

68634052215.3
68634052216. 4

Question Number : 54 Question Id : 68634013217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634052213. 1
68634052214. 2
68634052215.3
68634052216. 4

Question Number : 55 Question Id : 68634013218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dimension for conductivity (c¢) is.

et

| B

IMLA T A
3. M L3 T3AY
4. ML= T’ A%

Options :

68634052217. 1

68634052218. 2

68634052219. 3
68634052220. 4

Question Number : 55 Question Id : 68634013218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIREIEARCE o R,

W ek P i G|

|

IMIZTRA?

3 L E T AT

e

ML A



Options :

68634052217. 1
68634052218. 2
68634052219. 3
68634052220. 4

Question Number : 56 Question Id : 68634013219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given circuit, current through 30} resistor is equal to.

EAALL Ay
10 30

oD %Q gm (v

1.0.20 Amp

-

C0.25 Amp

[ 5]

.0.022 Amp
4. 0.60 Amp

Options :

68634052221. 1
68634052222. 2
68634052223. 3
68634052224. 4

Question Number : 56 Question Id : 68634013219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e ooy & 30 & Uik I warfed 81 arl faggd ¥RT &1 &

A A
10 3Q

1 Amp () gzﬂ §4g @1V

[ —
o o
b2 [ ]
o =

3.0.022 TR
4. 0.60 UMER

Options :

68634052221. 1
68634052222. 2
68634052223. 3
68634052224. 4

Question Number : 57 Question Id : 68634013220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The relationship among the emitter capacitance (Ce). the diffusion capacitance (Cp,.) and the transition
capacitance (Cp,) cs given by:

1.Ce= CDE‘ +CT&

| ]

. Cpe= CtCre
3. Cr~CtCpe

4 C,— (-'m "‘f:r'.«
Cpe +Cp

Options :
68634052225. 1
68634052226. 2

68634052227. 3
68634052228. 4

Question Number : 57 Question Id : 68634013220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Soquid 41T (Ce). faaRom i (cp,) SR Gshmur 4ifd (Cp) & oie Gdy fear o &
1.Ce= CDE‘ +CTE

2. Cpe=CoCr,

LF%]

. C1e=Ce™Cpe

4 C =M
O e

Options :

68634052225. 1
68634052226. 2
68634052227. 3
68634052228. 4

Question Number : 58 Question Id : 68634013221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the location of fault in the power system shown in the figure below. A sustamed 3- @ fault occurred.
(The voltage and current phasors. after the natural transients have died down are also shown.)

= T Transmission T
1 line \;3

1. Location Q

2. Location P
3. Location S

4. Location R

Options :

68634052229. 1
68634052230. 2
68634052231.3
68634052232. 4

Question Number : 58 Question Id : 68634013221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A feu e o 1, v wifd o A S o srafufd ggaiu | ue 9yRufid 3- ¢ 3N 3w gid ¢ | Widlas
&foTeBT37 & a8 faya 3R YRT BoR IHTG 81 91 © oral ot | feamn man g |

_ I Transmission f
1 line \;3
S

ﬁg
A Ot

Transmission S
I') line I4

3. 3fafufd s
4. afufa r

Options :

68634052229. 1
68634052230. 2
68634052231. 3
68634052232. 4

Question Number : 59 Question Id : 68634013222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the wind speed at a site 15 6 m/s for half of the year and 10 m/s for the rest of the year calculate the energy
content in a year.

1. 6524.5 k'Wh/m?

2

.6524.5 Wh/m?
3.5326.1 kWh/m?

4. 5326.1 Wh/m?

Options :

68634052233. 1
68634052234. 2
68634052235.3
68634052236. 4

Question Number : 59 Question Id : 68634013222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%ﬁﬂﬂwwqﬂ?m@aﬁ 6 T, © 3R g ome af & forg 10 A T A R ad & St A

1. 6524.5 KWh/m?

[ ]

.6524.5 Wh/m?
3.5326.1 kWh/m?

4.5326.1 Wh/m?

Options :

68634052233. 1
68634052234. 2
68634052235.3
68634052236. 4

Question Number : 60 Question Id : 68634013223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The currect sequence of countries in increasing order of their per capita emissions of carbon dioxide at
present:

1. India. Japan. USA. Chma
2. India. China. Japan. USA
3. China. Japan, India, USA

4. China. India. Japan. USA

Options :

68634052237. 1
68634052238. 2
68634052239. 3
68634052240. 4

Question Number : 60 Question Id : 68634013223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qoH B, Bi e F1a Sooi- & 96 g4 W & AR, A%l &1 96! $H 1 67
1. YRd. S9H, g U U, 4

[ )

. YRd. I, WUFE. g Ug U
3. 9. §IUH, YRA. J T U

4. 9. YRd, WY, 08U

Options :

68634052237 1
68634052238. 2
68634052239. 3
68634052240. 4

Question Number : 61 Question Id : 68634013224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

A |Singular Matnix I. |Determinant is always one.

B. Real Svmmetric Matrix | IO Digoneg_l ele:_nen‘r are necessarily erther
g purely imaginary or zero

C. Skew-Hermitian Matrix | IIL [Eigen values are always Real

D. |Orthogonal Matrix IV. [Determunant 1s always zero

Choose the correct answer from the options given below:

1. A-I. B-IL. C-III. D-IV

[ ]

CA-IL B-IV, C-1, D-III
3. A-IV, B-I11, C-II. D-I
4. A-IIT, B-1. C-IV. D-II

Options :

68634052241. 1
68634052242. 2
68634052243. 3
68634052244. 4

Question Number : 61 Question Id : 68634013224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S
Tqat 1 g

o [P L [GRM® HEN 1 8113
p [refe@ g | [aod s i e B o s
HEIE [ fed €t s a7 gl

& fquH gfAlcg i %ﬁﬁ&fﬁ@ﬂﬂswﬁﬁﬁﬂiﬁﬁ
oo :

D. [qifer® 3To0g V. [ORTO gHEN 9= Bidl &
FFafeiad fawedi § § 92t 3Tk &1 90+ SIfl ;

1. A-1. B-1I. C-III, D-IV

| B

CACIL B-IV. C-1. D-III
3. ATV, B-I11, C-II. D-I
4. AL B-1. C-IV. D-II

Options :

68634052241. 1

68634052242. 2

68634052243.3
68634052244. 4

Question Number : 62 Question Id : 68634013225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: For a unity feedback system with open-loop transfer function

G(s)=—mn0

— — 1<0.7:
sls+2z 11'”]

Statement I: Phase margin is explicitly indicative of damping ratio
Statement II: Resonance peak i1s explicitly indicative of damping ratio
In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II 1s true

Options :



68634052245. 1
68634052246. 2
68634052247. 3
68634052248. 4

Question Number : 62 Question Id : 68634013225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁéj?flﬁﬁiFTfanrnz%i
TP UHa I RO o Gar-ur sidfid wad & 91y . & g

2 W
G(s)=————,1<0.7:
I(") .\'{.¢+2: 11'”J

DY I: Dol URER, YUY &Y ¥ 3gHE S01d Pl Yo 8|

HY 11: SATG RRAR YUY ¥4 § Sfare Surd &1 4a@ |

SWRId ®U & 3H1elie §, - U Tt fae el § 9 a9 S9ged Sk 1 94 HIfeIu:
1. PR IEH 9T §
2. DY AR M EH ST

3. YT I I S, AT YT I ST &

4. PYTI 3T 8, AP PUT I T B

Options :

68634052245. 1
68634052246. 2
68634052247. 3
68634052248. 4

Question Number : 63 Question Id : 68634013226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: At the resonant frequency. the impedance of a series RLC circuit is zero

Statement IT: In a parallel GLC circuit. increasing the conductor G. results in increase in Q factor
In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I 15 false but Statement IT is true

Options :

68634052249. 1
68634052250. 2
68634052251. 3
68634052252. 4

Question Number : 63 Question Id : 68634013226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe g pu feu U B

HU I AFATET Mg R U@ AvfispH RLC TRuy &t gfdarer 3 gid 81

HYA I1: U GHIGR A B, GLC IRUY B, Iaad G 61 9. Q U (Ueh) 9¢ oidl ¢
SURIGd HY- o 3l H, 9 fGu Tt fasedl # 9 9ad Iugad Ik &1 90 DI

1. BYTI 3R IS a8
2. PYTI 3R 1 SH 3ET T
3. PYT 1 T 8, AT HUT 11 3T &
4. FYTI AT e, AP THYT I T ©
Options :
68634052249. 1
68634052250. 2

68634052251. 3
68634052252. 4



Question Number : 64 Question Id : 68634013227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(EPRESSION-I) (EXPRESSION-IT)

A |ABC + ABC + ABC L |4+BC

B. | ABC + ABC + BC L |4A(B+C)

C. | ABC + ABC + ABC + ABC | 111 | T

D. | AB + AB + ABC IV |48 + BC + AC

Choose the correct answer from the options given below:
1. A-IIL B-I. C-IV, D-III
2. A-IV. B-111, C-II. D-1
3. A-IL B-III, C-IV, D-I
4. A-IV, B-1, C-I1. D-IIT

Options :

68634052253. 1
68634052254. 2
68634052255. 3
68634052256. 4

Question Number : 64 Question Id : 68634013227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

_a'tﬂl '{fﬁn
@ﬁ?—n _ @Wﬂ)
A |ABC + ABC + ABC L |A+BC
B. | ABC + ABC + BC L |A(B+C)
C. | ABC + ARC + ARC + ABC | 1IL | T
D. | AB + AB + ABC IV. |4B + BC + AC

fafilad faeedi § O 981 3R &1 994 Sl ;

1. A-IL. B-1. C-IV. D-III

| ]

CA-TV. B-II0L. C-IL D-I
3. AL B-II1. C-TV. D-1
4. A-IV. B-1. C-II. D-IIT

Options :

68634052253. 1

68634052254. 2

68634052255.3
68634052256. 4

Question Number : 65 Question Id : 68634013228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: A Power MOSEET is current controlled device and requires very high input current.
Statement II: IGBT combines the advantages of BJTs and MOSFETs.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4. Statement I is false but Statement I is true

Options :

68634052257. 1
68634052258. 2
68634052259. 3



68634052260. 4

Question Number : 65 Question Id : 68634013228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i< 1 o AU U B

@Y I: TP YR I ekt MOSEET & ol 9=a (d=1 uR1 &1 sira=gepal gidl 6|
@ I1: IGBT. BITs 3[R MOSFETs G111 & T &1 H4IeH Pl ¢ |

SWRIGd ®U & 3H1elier §, - fEU U fge el § 9 969 S9ged 3R &1 99+ HIfeIu:

1.PUTI IR IS a0 8
2. BYT1 3R 1 SH 3T B
3. FYT 1T 8, AfbI YT 11 JTT

4. PYTI I . WP T PYT I I ©

Options :

68634052257. 1
68634052258. 2
68634052259. 3
68634052260. 4

Question Number : 66 Question Id : 68634013229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Name of power plant) {(Plant feature)
A |Thermal 1. High operating cost
B |[Nuclear II. [High capital cost
C. [Hydro IT1. [High plant life
D. [Diesal IV High fuel transtoortaicr cost

Choose the correct answer from the options given below:

1. A-III, B-1. C-IV. D-II

[ ]

CA-IV, B-T1, C-II1, D-I
3. AL B-1II, C-IV. D-1
4. A-IV, B-1. C-III. D-II

Options :



68634052261. 1
68634052262. 2
68634052263. 3
68634052264. 4

Question Number : 66 Question Id : 68634013229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 161 1 11 9 [0aH S
gl 1 T 1
A [eeig 1 | 3= JdIeH g
B. [o¥HTT] 1. [eUsil ®i 3= TR
C. [orcdig 111 [4F @l 3= Hal¥
D. [S5d V. 544 U¥aed @I 3= arrd
Frefead faseedl & 9 981 STk &l 99+ S :

1. A-IIL, B-1. C-IV. D-II

| ]

CA-TIV, B-T1, C-II1. D-I
3. A-IIL B-1II. C-IV. D-I
4, A-IV, B-1, C-I1I. D-II

Options :

68634052261. 1
68634052262. 2
68634052263. 3
68634052264. 4

Question Number : 67 Question Id : 68634013230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Carbon dioxide (CO,) 1s the only gas responsible for global warming.

Statement II: Most carbon dioxide (CO,) emission are from the use of fossil fuel.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement I is false

4. Statement I is false but Statement II 1s true

Options :

68634052265. 1
68634052266. 2
68634052267. 3
68634052268. 4

Question Number : 67 Question Id : 68634013230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i< &l Y AU U &
DY BIe- SISAFSS (CO,) I Tl had YHSHIT I & [eU ITRerl §
DY II: HYPAR Pla- SIGIH TGS (CO,) BT FHGH SIGIRY 5 o IR Y BIdl &
SURIGd BYT & 3Telies 1, A AU T fae eyl o 9 969 S9ged SR &1 90 DIfeIL:
1. Y1 3R 11 G 9 §
B AR G ST

[ ]

3. PYT I 90 o, AfbT Py 1 IET 2

4. PYTI ITT . AfbT pYT I I ©

Options :

68634052265. 1
68634052266. 2
68634052267. 3
68634052268. 4



Question Number : 68 Question Id : 68634013231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the complete solution of the ordinary differential equation

s«
d v ey g e A7)

—+a—+fy=01is y=ce™ +cye ",
dx dx

ol

Then the values of o and B are:

1. p=4, x=3

| o]

p=3. o=4
3. p=3, x=3
4, =4, ox=4

Options :

68634052269. 1
68634052270. 2
68634052271. 3
68634052272. 4

Question Number : 68 Question Id : 68634013231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e U YHY Jddbd GHIEHl
2 r 3

d—i +uﬂ+ﬁ,1*_0

dx~ dx

DIYHGAT y=cie " +cre 7,

dl o 3R B &1 OF 1 82

[ ]
-
LlJ
2
L

4. p=4. oc=4

Options :

68634052269. 1
68634052270. 2
68634052271. 3
68634052272. 4



Question Number : 69 Question Id : 68634013232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A type -1 plant 1s changed to type -2 feedback system by which cascade control action:

1.PD

[

. P1

%]

. Either PD or PI

4. Neither PD nor PI

Options :

68634052273. 1
68634052274. 2
68634052275.3
68634052276. 4

Question Number : 69 Question Id : 68634013232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 2159 -1 H49 &1 2189 -2 & R0 o7 1 foeg Fiumt f=a= fosar 9 aRkafida fear s g

1.PD

|

PI
3.9 PD IRATPIY

4.9PDYIRTPIY

Options :

68634052273. 1
68634052274. 2
68634052275. 3
68634052276. 4

Question Number : 70 Question Id : 68634013233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I : , , 0 1/2 : :
The short circuit admittance matrix of a two port network is L i w . The given two port network is.

1. Non-reciprocal and passive
2. Non-reciprocal and active
3. Reciprocal and passive
4. Reciprocal and active
Options :
68634052277. 1
68634052278. 2

68634052279. 3
68634052280. 4

Question Number : 70 Question Id : 68634013233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0
1/2

U &l UI¢ uRkuy o) ag-IRRY G 3ogg & [ _‘[ﬂ at o 7 €1 O uRoy @ B |

1. 3eepH IR Fisr
2. hY R Wiy

3. oerd IR Ffssg

4, EhH 3R Gy

Options :

68634052277. 1
68634052278. 2
68634052279. 3
68634052280. 4

Question Number : 71 Question Id : 68634013234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The output of a clocked sequential circuit independent of the input. The circuit can be represented by.

1. Mealy Model

| ]

. Moore Model
3. Either Mealy or Moore Model
4. Neither Mealy nor Moore Model

Options :

68634052281. 1
68634052282. 2
68634052283. 3
68634052284. 4

Question Number : 71 Question Id : 68634013234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HTaaqy AImid gy, Faw w ik 78 axan. ooy o Fofafea o @ e afar s e

1. did Arsd

AR
i

Options :

68634052281. 1
68634052282. 2
68634052283. 3
68634052284. 4

Question Number : 72 Question Id : 68634013235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In a Reaction turbine the length of draught tube 1s limited by the:
1. Speed of flowing water
2. Strength of material
3. The amount of available discharge

4. Possibility of cavitation

Options :
68634052285. 1



68634052286. 2
68634052287. 3
68634052288. 4

Question Number : 72 Question Id : 68634013235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ATy e3ag- § ward Tt & dals (69 & gRT 9IEd &f odl 8
. Vdlied oId &1 9ra 9
. Ter ot gHuar
. Iuas fdgeH & AET g
4. B IHE Y
Options :
68634052285. 1
68634052286. 2

68634052287. 3
68634052288. 4

ja—y

[ )

L¥%]

Question Number : 73 Question Id : 68634013236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The rate of return that an investment provides its investor is classified as:

1. Investment Return Rate

-

. Internal Rate of Return
3. International Rate of Return

4. Intrinsic Rate of Return

Options :

68634052289. 1
68634052290. 2
68634052291. 3
68634052292. 4

Question Number : 73 Question Id : 68634013236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e vierTet o S U AW oA Fa9e ST UeH Sdl § &1 aifeur faan o
1. e wfamd &

. 3R ufcrmHl &R

3. AR i &3

4. =19 wfaamdt &R

Options :

68634052289. 1
68634052290. 2
68634052291.3
68634052292. 4

[ )

Question Number : 74 Question Id : 68634013237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Low value Resistances can be measured by any one of the following methods:-Ammeter -
Voltmeter method. Kelvins double bridge method and Potentiometer method.

Statement IT: High value Resistance can be measured by any one of the following methods:-Direct deflection
method, Mega-ohm bridge method. Kelving double bridge method.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I is true but Statement IT is false

4. Statement [ 15 false but Statement II is true

Options :

68634052293. 1
68634052294. 2
68634052295. 3
68634052296. 4

Question Number : 74 Question Id : 68634013237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁﬁﬁﬁwﬁqﬂt{%‘“

YT [ HF 7 & Uikl & 5798 § ) 718 fooedt oft ves fafey gy amar o Ihar § siftex dieedies fafd,
fea gfa-aq fafdr sz favamrd fafe

HYA I1: = T & UiaRlY &1 &1 778 fobadl +ft uap fafe gy arn & g § uwe faga fafd, fsiim Ig
fafdr, sfea <fa-ag fafd

SWRIGd DU & 3H1elier §, - fEU U fae el § 9 a9 S9ged SR &1 99+ HIfeu:

1.
U AR IS gel 8

i,

mmmmﬁwuaﬁfw%’
3. BUYT I Tl §. AP FYF 1 TTad §
4. PYTITEd 8. AT BYT I Tel &

Options :

68634052293. 1
68634052294. 2
68634052295. 3
68634052296. 4

Question Number : 75 Question Id : 68634013238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ina 3—-¢ Induction motor connected to a balanced 3—¢ supply. if one of the lines suddenly gets
disconnected, then the:

A. Motor will come to a standstill.

B. Motor will continue to run at the same speed with line current unchanged.

C. Motor will continue to run at a slightly reduced speed with increased line current.

D. Rotor currents will have both sf and (2-s)f components frequencies where s is slip and f is the supply
trequency.

Choose the correct answer from the options given below:
1. Aand D only
2. A and B only
3.Cand D only

4. B and C only

Options :

68634052297. 1
68634052298. 2
68634052299. 3



68634052300. 4

Question Number : 75 Question Id : 68634013238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—¢ IRUT AR 1 o U Tqfeid 3¢ THERUT 4 WIST ol 9obal g | 1S U A5 HAMD <& Al ol

A HIex TR a7 o ST (3 Seh)
B. Hiex uRafd aig faegd 4T & 91y 9o 91d 9 Jadl 7!

C. HIeX 9¢1 §5 g1 [Aggd ¥R & WY $& (4e] §%) $H 91 o el §
D. IR YRT BT EHT sf IR (2-s)f ST Tedp AMaRi arft | 76l « & ok £ G amgfyy €

=i feu 7Y fawent | U el SR &1 994 DI

1.A3RD
AJRB
3.C 3RD
4B3RC

Options :

68634052297. 1
68634052298. 2
68634052299. 3
68634052300. 4

-

Question Number : 76 Question Id : 68634013239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct statements are:

A. A thyristor requires turn off circuit while transistor dose not.
B. The voltage drop of thyristor is less than that of a transistor.
C. A thyristor requires a continuous gate current.
D. A transistor draws continuous base current.
Choose the correct answer from the options given below:
1. A and B only
2. Aand D only
3.B and D only
4. A.B. Cand D only

Options :



68634052301. 1
68634052302. 2
68634052303. 3
68634052304. 4

Question Number : 76 Question Id : 68634013239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sied HYUA B U

A. % UTERReR & fGu=- aRuY (§3 ©R- a1d 9aY) &1 ATaRuEHdl ikl & U U giforel @i el
Bidl

B. YT5¥ex @ dived! Uld U ciforex 9 $H 8idl o

C. UTERER B TR I §RI 4RI & HTaRudl 8idl &

D. UF Tiforex FEaR 99 (3MUR) YRT BT Y0 BT & (Tl )

i U 7T famedl § U Ul 3R &1 904 SIoiu:
1.ASREB

AJRD

B 3RD

4. A.B.C3IRD

[ ]

%]

Options :

68634052301. 1
68634052302. 2
68634052303. 3
68634052304. 4

Question Number : 77 Question Id : 68634013240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The net present value (NPV) of the investment is the sum of the present value of the benefits and
cost of the investment.

Statement IT: Net present value (NPV) can never be negative.
In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

Options :

68634052305. 1
68634052306. 2
68634052307. 3
68634052308. 4

Question Number : 77 Question Id : 68634013240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 Py R T E:
w1 5 Faw &1 Fe adgm oF (NP GaEE 91 a1 3R P S 5o & 0 & sRIER g 8
B I1: ¢ gam O il ot Bunds T8 g1 abal
SRl HY- o 3l H, 1 fGu Tt fabedi d 9 9ad Iugad 3ok &1 90 SIS
L PUT1 AR I ST TE
2. BY 1 3R 11 ST Ot T ®
3. BYF 1 UE! 8. T HY= 11 7Ted &
4. DY 5. AP YT B §

Options :

68634052305. 1
68634052306. 2
68634052307. 3
68634052308. 4



Question Number : 78 Question Id : 68634013241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

z+4 L . )
Value of jT“’-’ if C 1s the cirele |[Z+1=1, 1s:

| )

4, Zero

Options :

68634052309. 1
68634052310. 2
68634052311. 3
68634052312. 4

Question Number : 78 Question Id : 68634013241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J._H;j dz T HF 91§ AR C T e g 3R 1z+1=1,

| )

4, Zero

Options :

68634052309. 1
68634052310. 2
68634052311. 3
68634052312. 4

Question Number : 79 Question Id : 68634013242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During hunting of Synchronous motor:

1. Negative phase sequence currents are generated

[

. Harmonics are developed in the armature circuit

T

. Damper for develops torque
4, Field excitation increases

Options :

68634052313. 1
68634052314. 2
68634052315.3
68634052316. 4

Question Number : 79 Question Id : 68634013242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qealieia Hiex &1 §ieT (3iRde) & R
1. FBUNES Hal S YR 3@ Bl &
2. R afuy B eU@e e faefid g @
3. SR T 3l [IHid Har g

4. &9 3o 9¢ OIdl &

Options :

68634052313. 1
68634052314. 2
68634052315. 3
68634052316. 4

Question Number : 80 Question Id : 68634013243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A 32:1 MUX can can be designed using:

1. Two 16:1 MUX and one 2-input OR gate

]

2. Two 16:1 MUX and one 2-input AND gate
3. Two 16:1 MUX and two 2-input OR. gate
4. Two 16:1 MUX and two 2-input AND gate

Options :
68634052317. 1



68634052318. 2
68634052319. 3
68634052320. 4

Question Number : 80 Question Id : 68634013243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ 32:1 MUX @I FAgforaa d ¥ o8 waim o feunsH o o 9@ §
1.3l 16:1 MUX 3fR U 2-24Y¢ (IMa=1) OR 7Ie

[ )

(& 16:1 MUX 3R U 2-394¢ (Fa=T) AND e
LI 16:1 MUX 3R &l 2-399¢ (Fd) OR TC
4. 81 16:1 MUX IR &l 2-29Ye (IFd=1) AND 7le

L¥%]

Options :

68634052317. 1
68634052318.2
68634052319. 3
68634052320. 4

Question Number : 81 Question Id : 68634013244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An ethanol operated engine produces an compound to the petrol operated engine.

1. 50% more power

[

. 20 % more power
3. Comparable amount of power
4. 50% less power

Options :

68634052321. 1
68634052322.2
68634052323.3
68634052324. 4

Question Number : 81 Question Id : 68634013244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T YT FEierd i, U Uil Waierd Sio i Ul (Ja- ) SCEEZGIE|

1. 50%3{(¢/@ iad
2. 20 % A% Qi
3. eI O B Wik
4. 50% HH Qlad

Options :

68634052321. 1

68634052322. 2

68634052323.3
68634052324. 4

Question Number : 82 Question Id : 68634013245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statements which is the true regarding time value of money concepts 1s:

1. Money received today 1s worth the same as money received in the future.

-

. Money received today 1s worth more than money received in the future.

3. Money received today is worth less than money received in the future.

.

. Money paid today i1s worth the same as money paid in the future.

Options :

68634052325. 1
68634052326. 2
68634052327. 3
68634052328. 4

Question Number : 82 Question Id : 68634013245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qep Y il gg1 & BIdiaR O Yol & [y 9 & 9l
1. 3TS UItd &1 715 Gl &1 Hed (o) Hiasy & i &t 715 9ol & 9911 §
. TGl AT 1 715 &1 &1 Hed (Hed) Hiow ¥ U &1 115 a1 ¥ i §
3. TGl WT ! 7T, Jo1 BT Hed (Hed) Hid™ T Ui &1 715 5ol 4 HH §

| )

4. 3Tol 31 B 715 a1 1 g (Yed) Hfaw T ured &1 715 gal & 99 8

Options :



68634052325. 1
68634052326. 2
68634052327. 3
68634052328. 4

Question Number : 83 Question Id : 68634013246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two Random Variable x and y are distributed according to.

£: a8 [(x+y), O=x<l0<y=l
P A ;
T |0, otherwise

The Probability P (x + y < 1) 1s:

,_L
Ga | 2

[
| =

| =

b | —

Options :

68634052329. 1
68634052330. 2
68634052331. 3
68634052332. 4

Question Number : 83 Question Id : 68634013246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& UrefEe® =R x 3R y. 59& IR fadika &

foolx .)_J(-“Jr_l']l. 0=x<10<y=<lI
S 1 3T
MRS P(x+y 1) 8
2
Y [
3
a1
T8
g: 1
6
&2
2

Options :

68634052329. 1
68634052330. 2
68634052331.3
68634052332. 4

Question Number : 84 Question Id : 68634013247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The solution of x partial differential equation

u_,ou .,
ox of

e -3x
U(x . 0)=6e

18 Uzﬁe—l\;—lr
2 UU=6e 3x-2t
3, U=663x*-2t
4. U=Ge ™2
Options :
68634052333. 1
68634052334. 2

68634052335. 3
68634052336. 4



Question Number : 84 Question Id : 68634013247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP fadd FHIFH x

TRI DT Ulx. 0)=6e ¥ DI B

1. U=6e >
2. U=6e 2
3. U=6e™" 2
4, U=6e 2

Options :

68634052333 1

68634052334, 2

68634052335. 3
68634052336. 4

Question Number : 85 Question Id : 68634013248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Skewing 1s used in Induction motor in order to reduce the torque due to:

1. Time harmonics

| ]

. Space harmonics
3. Slot harmonics
4. Reverse rotating fields

Options :

68634052337. 1
68634052338. 2
68634052339. 3
68634052340. 4

Question Number : 85 Question Id : 68634013248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Alex J [quAayg (TR T) &1 WaFT (8 gR1 3 ad S0 &1 &H S & [ad a1 oral 5|
1. Pl gildHT (6%Hmd7)
e wEs (gEiF®)

.G SIS (BHIH®)

[ )

L¥%]

=S

Options :

68634052337. 1
68634052338. 2
68634052339. 3
68634052340. 4

Question Number : 86 Question Id : 68634013249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cut-off frequency (f,) of a second-order Butterworth filter
(Given Ry=27 kQ, Rg=15.8 kQ, Ry,=R3=3.3kQ and C2-C3=0.047 4F .)

1. 1000 HZ

-

100 HZ
3.10HZ

4.1 HZ

Options :

68634052341. 1
68634052342. 2
68634052343.3
68634052344. 4

Question Number : 86 Question Id : 68634013249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U (gl o1 dexay] fhee @t ida sght & ghil? lRAT T 8: Ry= 27 k. Rp=15.8 kQ R,=R;=3.3kQ
IMRC2=C3=0.047 4F )

1. 1000 HZ

[

100 HZ
3. 10HZ

4. 1HZ

Options :

68634052341. 1
68634052342. 2
68634052343. 3
68634052344. 4

Question Number : 87 Question Id : 68634013250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If V;=Sin (2mx10°t) sinusoidal signal is applied at the input of an op-amp differentiator circuit then the output
voltage is given as:- (Given R=1.5 kQ and C=0.1 pF).

1. Vo= 0.94 Cos (21 x 10° 1)
2. Vy=-0.94 Cos (2m x 10° t)
3. Vy=-0.94 Sin 2z x 10 1)
4.V, =094 Sin 2n x 10° 1)

Options :

68634052345. 1

68634052346. 2

68634052347.3
68634052348. 4

Question Number : 87 Question Id : 68634013250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfg v,=Sin (2mx10%t) .UH 1G(HT Hobd B TP op-amp HIbad TRUY & Haw TR g fobdr ordT
¢ ol Frig famaem erft afg r=1.5 ko 3R c=0.1 uF).

1. V;=0.94 Cos (2 x 10° t)
2. Vy=-0.94 Cos (2m x 10° t)
3. Vy=-0.94 Sin (2n x 10 1)
4. Vy=0.94 Sin (21 x 10° 1)

Options :

68634052345. 1
68634052346. 2
68634052347. 3
68634052348. 4

Question Number : 88 Question Id : 68634013251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Diameter of a wind turbine is 3m. width of blade 20em and number of blades as 20. The solidity factor for
this wind turbine 1s:

1. 0.0435
2.4.25

3.0.425
4.0.0425

Options :

68634052349. 1
68634052350. 2
68634052351. 3
68634052352. 4

Question Number : 88 Question Id : 68634013251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Yo (A1) TRETe &1 & 3 Hiek 5. &1 (U) P 1sTg 20 .01, 3R &is (U@ S I@n 20 § dl
UG- 2Rale &l [Us U@ (G3®) |

1. 0.0435

|

.4.25
3. 0425
4. 0.0425
Options :
68634052349. 1
68634052350. 2

68634052351. 3
68634052352. 4

Question Number : 89 Question Id : 68634013252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Ghawar oilfield discovered in 1948 1s located n:

1. Iran

| S

.USA
3. Saudi Arabia
4. Iraq

Options :

68634052353. 1
68634052354. 2
68634052355. 3
68634052356. 4

Question Number : 89 Question Id : 68634013252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gav adt & foraeT SifashR 1048 H g Ul Hg1 fUd g2
13X
2. JUET
3. 34l 3Re
4. NP

Options :



68634052353. 1
68634052354. 2
68634052355. 3
68634052356. 4

Question Number : 90 Question Id : 68634013253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Primary detector type transducers employed for displacement measurement are:

A. Thermistor

B. Diaphragm

C. Thermocouple

D. Pivot Torque

E. Capacitive displacement transducer

Choose the correct answer from the options given below:
1. A.B and E only
2.B and D only
3.B.D and E only

4. A.D and E only

Options :

68634052357. 1
68634052358. 2
68634052359. 3
68634052360. 4

Question Number : 90 Question Id : 68634013253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YIS TYEP TPR & SIS [vig [deiTd+ A1949 & fou Fgad [ s g1 9 8

A. 9 YRy
B. TUC (S5
C. 19 9gYd-gH
D. Bidd aa Tl
E. TR 2o eras®ik
i f4U T faeedl § ¥ Hel 3R &1 99 Hifeiu:
1.A.B 3RE

B3RD

3.B.D 3RE

b2

4. A.D3RE

Options :

68634052357. 1
68634052358. 2
68634052359. 3
68634052360. 4

Question Number : 91 Question Id : 68634013254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTII
(Tvpe of motors) (Application)
A |Stepper motor I. JRefrigerator compresson|
B. |Universal motor II. |[Computer printer
C. |5haded pole motor 1. |Sewing machine
D. |Capacitor and capacitor run Inductor motor | IV. [Photo coping machine

Choose the correct answer from the options given below:

1. A-III, B-IV. C-IL. D-I

[ ]

AL BHIILL, C-1L D-IV
3. A-IL B-III, C-IV, D-I
4. A-IIT, B-II. C-IV, D-I

Options :

68634052361. 1
68634052362. 2
68634052363. 3
68634052364. 4



Question Number : 91 Question Id : 68634013254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gl 11 9 i Sifor
g4 1 g 11

@I F TPR) (STHTTT)
A TR AR I Rithee? Ouifss
B. [gd3 Alex I1. [rge fiex
C. [@arg uid Hiex 111 [T &t 3=
D. [491RR3 3R G91¥A aR1 9alt o alell W Aied| IV, [Biel &1 (dideidh a=iH
e faeedi 9 92t 3Tk &1 90+ SIfl :

1. A-IT1. B-TV. C-II. DI
2. AL B-IIL. C-1. D-IV
3. A-IL B-IILL C-IV. D-1
4. A-111. B-11. C-IV. D-I

Options :

68634052361. 1

68634052362. 2

68634052363. 3
68634052364. 4

Question Number : 92 Question Id : 68634013255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
SCR Rating Protective element
A |di/dt limat I. | Snubber
B. |dv/dt limait II. | Heat Sink
C. k2t timit ITI. |Series Reactor
D. Punction Temperature Limit | IV [Fuse

Choose the correct answer from the options given below:
1. A-IIL B-II. C-IV., D-I
2. A-L. B-IV. C-I1. D-ITT
3. A-IIL B-TV. C-II. D-1

4. A-IIL B-1. C-IV. D-II



Options :

68634052365. 1
68634052366. 2
68634052367. 3
68634052368. 4

Question Number : 92 Question Id : 68634013255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gl 11 9 i Sifor
T 1 T 1
A Jdivd THT I [ Il a0y
B. ldv/de 9T 1. [T AT
C. |2 dmm II1. [3i0ff fetgex
D. [y argaE I | v, [gsE
fFafarad 9ol § O 98! SR &1 994 S ;

1. A-TII. B-II. C-IV, D-I

| )

CA-L B-IV, C-II, D-III

%]

AL B-IV. C-I1. D-1
4. AL B-1. C-IV. D-II

Options :

68634052365. 1
68634052366. 2
68634052367. 3
68634052368. 4

Question Number : 93 Question Id : 68634013256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct statements are:

A. Energy payback time (EPBT) should be less than life of PV System

B. Life cycle conversion efficiency (LCCE) should be less than one

C. Energy production factor (CEPF) on life time basis should be more than one

D. Carbon emission is more if electrical power is generated by PV in comparision to the electrical power
generated by conventional power plant

Choose the correct answer from the options given below:
1. Aand C only
2. A and B only
3. A.Band C only

4. A. B and D only

Options :

68634052369. 1
68634052370. 2
68634052371.3
68634052372. 4

Question Number : 93 Question Id : 68634013256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el HUT IHT:

A. 391 YT 99T (EPBT). PV O & oila- 4 & g1 deU|

B. Gﬂﬂ:{ﬂﬁiwaﬁiﬁ (LCCE). 1 § H 5! dIfgU

C. Boll 3G DR (CEPF) SN ®1d & YR TR 1 F & g1 Fifeul

D. E@Hﬁwmmwwﬁwﬁ PV RI 344 dg4d 3ull § Pla- Pl Scdoi
|

e fau U fasedl § U el SR ®1 99 BIfo;
1LASRC

AdRB

3.A.B3RC

4. A.B3RD

b

Options :

68634052369. 1
68634052370. 2
68634052371. 3
68634052372. 4



Question Number : 94 Question Id : 68634013257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider the correct statements:

A. Both voltage source inverter and current source inverter require feed back diode.
B. Only current source inverter require feedback.

C. GTO can not be used in a current source mverter.

D. Only voltage source inverter requires feedback diode.

Choose the correct answer from the options given below:
1. A only
2. B and C only
3. C and D only
4. D only

Options :

68634052373. 1
68634052374. 2
68634052375. 3
68634052376. 4

Question Number : 94 Question Id : 68634013257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 FUF U

A. &I faud Wid wlddige ¢k Wia widdime o1 ga2Ru1 s1dis &1 sazged  gidl o
B. $ad YR TWid Uidd b LR SUS] &I Havgsdl eidl ¢ |

C. GTO &1 YRT Fld Haamd § HaNT g1 a1 o FavaT

D. Fad [qHa wid iiam® & IR0 SIS 31 HaRgadl sidl o

i fau T fdsedl T ¥ 981 3TR &1 999 $ifoiu:

1. Had A
2. HBAdB AR C
3.%Had C ARD
4. HaAD

Options :

68634052373. 1

68634052374. 2

68634052375. 3
68634052376. 4




Question Number : 95 Question Id : 68634013258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The eigenvectors of the matrix are:

Options :

68634052377. 1
68634052378. 2
68634052379. 3
68634052380. 4

Question Number : 95 Question Id : 68634013258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTogg & SMHe&lIe |id= &l 82




Options :

68634052377. 1
68634052378. 2
68634052379. 3
68634052380. 4

Question Number : 96 Question Id : 68634013259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT classification of oscillators on the basis of frequency range over which they are used.

LISTI LISTII
{Tvpe of Oscillators) (Frequency Range)
|Audio Frequency (AF) oscillatory 1 |20 KHZ - 30MHZ
Radio frequency (RF) oscillators | I1. |1.5 MHZ - 30MHZ)
[Video frequency (VF) oscillators | ITT. [20HZ - 20KHZ
High frequency (HF) oscillators | IV, Jdc - SMHZ

o[ ofw[>

Choose the correct answer from the options given below:

1. A-III, B-I1, C-1, D-IV

| ]

AL B-IV, C-I1, D-I
3. A-IIT, B-1. C-IV. D-II
4. A-III. B-II. C-IV. D-I

Options :

68634052381. 1
68634052382 2
68634052383. 3
68634052384. 4

Question Number : 96 Question Id : 68634013259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

T 1 i
@IaT F TPR) ( T )
o[ Mg ol (AF) | I o KHZ - 30MHZ
fear g aa® ®E) | 1L |15 MHZ - 30MHZ
d1TSg1 31ghd giere (VE)| IIL ROHZ - 20KHZ
3= 19 giad (HF) | IV. Jdc - SMHZ

Fafaiad [doedi € O gl 3R &1 994 Dol -

1. A-IIL B-II. C-1, D-IV

ofo]w]»

2. A-IL B-1IV. C-I1. D-1
3. A-IITL B-1. C-IV. D-1I
4. A-III B-1II. C-IV. D-I

Options :

68634052381. 1
68634052382.2
68634052383. 3
68634052384. 4

Question Number : 97 Question Id : 68634013260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Nature of Response) {(Condition for Response)
] Sutn of steady- state and transient

A |Steady-state response| L
response

B. |Transient response II. [Response of a system for impulse input

o [P —— 1L Part of response which approaches zero
as t —oo

Bt lieulmenpnes v Part of response which does not approach
7ero ast —w

Choose the correct answer from the options given below:

1. A-IV, B-1. C-III. D-II

| )

CA-IL B-IIL C-I, D-IV
3. A-IIL. B-1. C-IIT, D-IV
4. A-IV. B-1II. C-1. D-II

Options :
68634052385. 1



68634052386. 2
68634052387. 3
68634052388. 4

Question Number : 97 Question Id : 68634013260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 = 11 ¥ [ar Sy
A1 T 1
(S fobaT 1 yepfen) ergfirar t fRufa)

A [eurdl sfaw sifshal| 1 | =i srawi Sk geuwurdl siidal & gt
B. [arcowirdl sipdl | 11 [U@ oA @t 3irail (419%1 & fe1e aichar
C
D

. [oat sfgmn 111. [3f5h 31 1 a8 A1 ofl Y bl UTHA Pl & o8 t —==
. [emah agfeean IV. [3fs5 301 &1 98 A ol I BT JUTH 761 DIAl § 998 = —

afaiad [doedi § O 9ol 3 &1 99 Dol -

1. A-IV, B-1, C-III. D-II

2. A-IL B-IIL, C-1, D-IV
3. AL B-I. C-IIL D-IV
4. A-IV. B-IIL. C-I. D-II

Options :

68634052385. 1
68634052386. 2
68634052387. 3
68634052388. 4

Question Number : 98 Question Id : 68634013261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
1-@ rectifier topology feeding resistive load Dristpiat Volkig:
2V peak
A [Controlled half wave I |——cos
T
5 oy ) V peak
B |Semi-controlled I1.
T
_ V peak
C. |[Controlled full wave III. (1+cos u}
i ;
; NV peak
D. [Uncontrolled-half wave V. > (I+cosa)
T

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-II. D-IV

| )

AL B-ILL C-1, D-IV
3. A-IV. B-I1, C-1, D-ITIT
4. A-IV, B-1I. C-I1II. D-I

Options :

68634052389. 1
68634052390. 2
68634052391.3
68634052392. 4

Question Number : 98 Question Id : 68634013261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

T 1
10 Reeh e TRy
A [Pz arfaar I Mccsu
T
B. [r¢f oy g | e
4
C. [Fgau quf a3 IIL. J ‘r::ak (I+cosa)
D. [ ardad v V‘;:ﬂk (1+cosa)

frafaiad fowedi § O Oet S @1 9g= sifo
1. A-IIL, B-I, C-II, D-IV
2. A-III, B-I1, C-1, D-IV
3. A-IV, B-IL, C-1, D-II
4. A-IV, B-IL, C-IIL, D-I

Options :

68634052389. 1
68634052390. 2
68634052391. 3
68634052392. 4

Question Number : 99 Question Id : 68634013262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For HVDC transmission Line the auxiliary components are:

A. D.C Lme inductor

B. A.C Line inductor

C. Series capacitance on A.C line
D. Distance relays on D.C. line
E. Reactive power sources

Choose the correct answer from the options given below:

1. A.B. D only

[

.A.E only
3.A.C.Donly

4. B, C only



Options :

68634052393. 1
68634052394. 2
68634052395. 3
68634052396. 4

Question Number : 99 Question Id : 68634013262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HVDC f3dRur g4 & o, Je0e &R &

A. D.C B RS
B. A.C A5 W&
C. &uilshd YTRALA.C T2

D. D.C. drg+ W gl e (ufcsro
E. 3ffepar <ia 3=t (ifae) Wi

< f4u U f[d@redl § I el 3R &1 9494 DIaIg:

1. AB,D

| )

AE
JACD
4. B.C

Options :

68634052393. 1
68634052394. 2
68634052395. 3
68634052396. 4

Question Number : 100 Question Id : 68634013263 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II
A 1973 o1l crisis [ [The Gulf War
B. |1979 energy crisis II. |The Iranian revolution
C. 1990 spike in the price of o1l 1T JAn OPEC oil export embargo
D. ZQUQ—EGGI California electricity IV Failed c_lereg‘ulation and business
Crisis corruption

Choose the correct answer from the options given below:

1. A-IL. B-III. C-IV, D-I

[ ]

.A-IL B-1II. C-III. D-IV

L]

CA-IV, B-II1, C-I1., D-I
4. A-IIT, B-II. C-1. D-1

Options :

68634052397. 1
68634052398. 2
68634052399. 3
68634052400. 4

Question Number : 100 Question Id : 68634013263 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gl 11 9 i Sifor
T 1 T 11
A 1973 Ja dae L [@eids
B [1979 391 ¥obe 1. 53 @1 Hifd
C [da & g ¥ 1990 1 did gai 111 [T OPEC e Iald WieRIY (Fut)
D. |000-2001, SIAHIHTT degd e IV. [AOR YPHR AR [GHAHdeo § SHfmed]

frafarad foweal 5 9 96 SR &1 999 i -

1. A-IL. B-III. C-IV. D-I

| ]

. A-L B-IL. C-II1, D-IV
3. A-IV. B-IIL. C-II. D-I
4. A-IIT, B-II. C-1. D-1

Options :

68634052397. 1
68634052398. 2
68634052399. 3
68634052400. 4



